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                                     ____ Tanto por ciento  

                                                          de una cantidad ____ 

 

Solución ________________________________________________________________ 

 

 Calcula el porcentaje de la cantidad dada: 
 

12% de 500 = 60     5% de 800 = 40 

 

 

 

 

 

 

 

48% de 950 = 456     60% de 5.150 = 3.090 

 

 

 

 

 

 

 

21% de 18 = 3´78     10% de 20 = 2 

 

 

 

 

            

 

 

12

100
 de 500 = 60 

 de 500 
12 x 500 = 6.000 
 

6.000 : 100 = 60 
 

48

100
 de 950 = 456 

 de 500 

21

100
 de 18 = 3´78 

 de 500 

5

100
 de 00 = 40 

 de 500 
5 x 800 = 4.000 
 

4.000 : 100 = 40 
 

48 x 950 = 45.600 
 

45.600 : 100 = 456 
 

60 x 5.150 = 309.000 
 

309.000 : 100 = 3.090 
 

21 x 18 = 378 
 

378 : 100 = 3´78 
 

10 x 20 = 200 
 

200 : 100 = 2 
 

60

100
 de 5.150 = 3.090 

 de 500 

10

100
 de 20 = 2 

 de 500 
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12% de 325 = 39     10% de 792´27 = 79´227 

 

 

 

 

 

 

 

27% de 300 = 81     1% de 50 = 0´50 

 

 

 

 

 

 

 

30% de 60 = 18     15% de 860 = 129 

 

 

 

 

 

 

 

25% de 640 = 160     36% de 275 = 99 

 

 

 

 

 

 

 

12

100
 de 325 = 39 

 de 500 

27

100
 de 300 = 81 

 de 500 

30

100
 de 60 = 18 

 de 500 

25

100
 de 640 = 160 

 de 500 

12 x 325 = 3.900 
 

3.900 : 100 = 39 
 

10 x 792´27 = 7.922´7 
 

7.922´7 : 100 = 79´227 
 

27 x 300 = 8.100 
 

8.100 : 100 = 81 
 

1 x 50 = 50 
 

50 : 100 = 0´50 
 

15 x 860 = 12.900 
 

12.900 : 100 = 129 
 

30 x 60 = 1.800 
 

1.800 : 100 = 18 
 

25 x 640 = 16.000 
 

16.000 : 100 = 160 
 

36 x 275 = 9.900 
 

9.900 : 100 = 99 
 

10

100
 de 792´27 = 79´227 

 de 500 

1

100
 de 50 = 0´50 

 de 500 

15

100
 de 860 = 129 

 de 500 

36

100
 de 275 = 99 

 de 500 


